


Law of Sines

For any AABC with side lengths a, b, and ¢
opposite angles A, B, and C, respectively,

the Law of Sines relates the sine of each angle
to the length of the opposite side.
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For /A XY Z, whatis YZ to the nearest tenth?
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3. a. What is mzZN?
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b. What is m£0O?
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The map shows the path a pilot
flew between Omaha and
Chicago in order to avoid a
thunderstorm. How much longer
is this route than the direct
route to Chicago?
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4. Suppose the pilot chose to fly north of the storm. How much farther is
that route than the direct route?
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7. What are m£Q and m4£R? Q
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8. What is the perimeter of /A QRS?
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What is XY?
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What are AB and BC?
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What is the perimeter of A TUV?

28°

11



Solve the Triangle
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Two observers are standing on shore %2 mile apart at points A and B and measure the
angle to a sailboat at a point C at the same time. Angle A is 63° and angle B is 56°. Find
the distance from each observer to the sailboat.
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A vertical flagpole is attached to the top edge of a building. A man stands 400 feet from
the base of the building. From his viewpoint, the angle of elevation to the bottom of the
flagpole is 60°; to the top is 62.5°. Determine the height of the flagpole.



